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INSTRUCTIONS

{Please read carefully and comply)

1. Kindly read the complate set of instructions carefully and akso see (he instrictions on
the back side of the OMR Answer Sheet and fill the details in the OMR Answer Sheel
and Cluastion Booklal

2. One paragraph each in Hindi and Englishis givenon page 1 Copying of the paragraph
{in the language as filled in the application form aither in Hindl or English) in your
running hand is compulsory, DONOTUSE BLOCKLETTERS,

3, (a) Ouestion Booklet SedalNo. must ciearly be writien and marked in the bubbles in
the space provided intha OMR Answer Sheet.

(b) OMRSheot Mo, should ba written in the space provided in the Quastion Boolkiet.

4. Afier baing instructed to opan the Bookiet, the candidates will open the Seals. Check
whather the booklet conlains 100 questions and start the paper from
Page No. 17.

5. €} No. 1toQNo. 50 are avallable in congruent versions of English, Hindi, Urdu and
othar regional languages. In case of any doubt or confusion, English varsion shall
prevall. Q.No. 51 to Q.No. 100 pertains (o English subject and not transtated in other
languages.

B All Questions are of Objective type. There ks only one.correct answerbast answer 1o
each question carrying one mark, There will be negative marking for wrong answers.
Forevary wrong answer, 1/3 mark will be deducted.

7.  In the event of any mistake In any questions, candidate will not be penalized.
Hawever, no corrections will be made in question's during the examinatian.

L]
B, YoumustuseBlue or Biack ball-point pen anly for answering. Altering of answers ance
entered is not permissible. Enterthe answers in the OMR Answer Shaet carafully.

9. Rough work, if any, may ba done in the Question Bookiet onlyin the space provided at
the end of the Bookletor at any specifiad space. No additional paper shall be provided.

10, Use of Log tables, Calculator, Slide Rule, Mobile Phone, Pager, Digital diary or any
other alectronic temiinstrument elc, |s nol afllowed, Their use will resull in
disgualification,

11, Mo candidate should leave the examination hall before the final bell. The top sheel of
Question Bookket as wal as the Answer Sheel should be handed over o the invigilator
balore leaving the Examination Hall,
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4.

BO% of 50% of 250% of 34 = 7
(A) 38 (B) 40
(C) 43 (D) None of these

The difference between 40% of a number and 28% of the same number is
198 What is the number ?

(A) 1500 (B} 1650
(C) 1760 (D) 1800

In an examination, 65% of the tolal examineas passed. If the number of
failures is 420, the total number of examinees Is

(A) 567 (B} 693
(C) 1000 (D} 1200

A man sold his horse for 19800 and gained 10%. The horse was bought
for :

(&) T18000 (B} 217820
(C) T18120 (D) 18300

The value of an article was ¥75, First its value was increased by 20% and
then the increased valug was decreased by 20%. Whal is the present
value of tha article 7

(A) 78 (B) 74

(C) 76 (D) T72

The ratio of the ages of Meena and Meera is 4 : 3 and sum ol their ages 18
28 years. The ratio of their ages after 8 years will be

(A) 4:3 (B) 1211
(C) 7:4 D) 6:5
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9.

10.

1.

12,

It 3 persons weave 168 shawis in 14 days, how many shawls will
B persons weave in 5 days 7

(A) 80 (B} 105
(C) 126 (D) 160

Two trains 105 m and 90 m long run al the speeds of 45 km/hr and
72 kmi/hr respectively in opposite directlons on parallel tracks. How much
time do they take to cross each other 7

{A) 5 Seconds (B) B Seconds
{C) 7 Seconds (D} 8 Seconds

Veena cblained ¥8376 as simple interest on a cerdain sum al 8% per
annum after & years, The sum invesied by her was

(A} 217180 (B) 218110
(C) TIEE60 (D) T17450

The dlagonal of a rectangle is 10 cm long and 1t is egual o wice the
length of the rectangle. The area of the rectangle s

(A) 25cm? (B) 403 cm®
(€) 253 cm® (D) 1043 em?

The vitamin associated with Ricketls is
(A) Vitamn A (B) VitaminB
{C) Vitamin D {0} VitaminE

The north —western India receives substantial rainfall during winter months
because of |

(&) South West monscons
(B} Reftreating monsoons

(C) MNorth-East monsoons
(0] Westerly disturbances
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13,

14.

g1

16.

17.

18.

Which is not a Kharif crop 7
(A) Rice (B) Wheat

(C} Paddy (D) Coftton

Which one of the following I8 not a Fundamental Right i India 7
(A) Right lo Equality {B) Right against Exploitation

(C) Right ta Property (D} Right ta Freedom

Which is the master gland 7
(A) Pituitary gland {B) Adrenal Gland

(C) Pancreas (D} Thyroid

The sum of the squares of two numbers is 80 and the square of thelr
difference is 36 The product of the twa numbers is

(A) 22 : (B) 44
(C) S8 (D} 116

1
|f———= 0.2689, then the value of

3718 0.0003718
(A) 0.2689 (B) 2.889
(C) 2689 (D) 26890

0.728 x0.728-0.272 x 0272 5
0.456 '

(A) 3 (B) 4

{C) 2 (D) 1
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HH"?the s 7
19. el na-hi'

(A (B

(C) (D)

Wl 2o |2
5 B ey e

20. In a family, average age of falher and mother is 38 years, whereas the
average age of father, mother and only daughter is 28 years. The age of

the daughler is :
(A} 5years (B) & years
(C) 8 years (D) 10 years

21. A man travels 100 km towards South. From there he turns right and
travels 50 km and again turns right to travael 50 km. Which direction is he
from his starting point ?

(A) Narth (B} Morh - Eas!
(C) South-West (D) West

22. Pointing to @ man, a woman said, "He is the only son of my mother's
mother”, How is the woman related to the man 7

(A) Aunt (B} Daughter
(C) Niece {D) Sister

23.  Which of the following words would appear in the middle if they are
arranged as in the dictionary order ?

Delude, Delirium, Defer, Demean, Delete

{A) Deluds (B} Delirium
{C) Defar (D) Demean
24. '+ 'means’'<+’ + means —' '— means % and ‘x' means '+ then
M+2-195+3x5=7
{A) 10 (B) 15
{C) 26 {0}y 5§
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25,

26.

27,

8.

ln an examination result, Rohit ranks sixieenth from the top and forty ninth
from the bottom. Nine students did not appear in the examination. How
many students are there in the class 7

(A) 64 (B) 73
(C) 74 (D} MNone of these

Six persons A, B, C, D, E and F are standing in a circle. B is between D
and C. A is between E and C. F is to the right of D. Who is between A and
F?

(A} B By C
(C) D (M E

If 'tee see pee’ means ‘Orink Fruit Juice’, ‘'see kee |lee’ means 'Juice is
Sweet' and ‘lee ree mee' means ‘He Is Intelligent’, which ward in that
language means ‘Sweet’ 7

(A) see (B} kea
(C) lee (D) pee

if the cook is called butler, butler is called manager, manager is called
teacher, teacher is called clerk and clerk is called principal, then who will
teach in the clags ?

(&) Cook (BY Butler
(C} Teacher (D) Clerk

Choose one from the allernative which is different from the others
Ay 27 (B) B3
(C) 42 (D) 49

If GIVE is coded as 5137 and BAT is coded as 924, how is GATE coded 7
(A) 5427 iB) 5247
(C) 5724 {0} 2547
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31.

32.

33

34,

35.

36,

37.

Find the odd one oul,
(A) Rose {B) Lotus
(C) Marigold (D) Lily

Find the odd one out.
(A} BD B8} MP
(C) HK (D} TW

Paddy s related to Field in the same way as Steel is related 10 —————- -
(A} Mine (B) Factory
(C) lron (2) Dre

There is certain refationship between first two words: Find oul the words
from the alternative which has simitar relationship with third word.

Newspaper : Press :: Cloth: 7
(A) Tailor (B) Textie
(C) Fibre () Ml

Complete the Serias

ADCGE?Y
Ay G By J
() | o) L

In the series given, some of the lelters are missing, which are given in that
order in one of the altsrnative. Choose the comact allemative

ab-ba--ba-
iA) abba (B} baab
(C) baba {D) abab

In the series given, some of the letters are missing, which are given in that
order in one of the alternative. Chocse the comect alternative

a-ba-bb-ab-a
(A) abab {B} baab
{C) baba {0} abbb
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38. Complete the sanes.

2, 6, 14, 30, 62, 7
(A} 126 (BY 128
{C) 120 (O) 130

39. Complete the series.

1r3|1|1arzt|?
(A) 27 (B) 28
(C} 31 (D) 33

40. f ACTION is coded as ZXGRLM, then HEALTH will be coded in the same

way as
(&) SWZOGS (B) TVZOGT
(C) RUZPGR (D} QWVGOZQ

41. ‘Which of the following pairs ol artists and their areas of specialisation is
not correct ?

(A} Ustad Zakir Hussain Khan- Tabla
(B} Pt Raw Shankar - Sitar

(C) Hari Prasad Chaurasia - Flute
(0} M.5. Subbulakshmi — Dance

42. Who s World Chess Champion at presenl ?
(&) Vishwanathan Anand
{(B) Magnus Carlsen
(C)  Viadimir Kramnik

{0} None of these

43, Inthe earth's atmosphere, the atmospheric pressure
{4) increases with height
(B) decreases with height
(C) remains constant with hesght
(0¥} first increases and then decreases with height -
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45.

47.

50.

Day and Nights are caused by

1. rotation of the earth on is axis

2. revolution of the earth around the sun

3. inclinaton of earth's axis

(A) Only 1 is correct (B} 1and 2 are correct
({C) 2 and 3 are corract (D] Al are correct

VWhich of the following is a cash crop 7
{A) Maize (B) Potato
(C] Rubber (D) Gram

Bhim Sen Joshi is associated with
{A) Light music (B} Wocal music
(G} Instrumental music (D) Ghazals

Buland Darwaza is located in
(A) Hyderabad {B} Bijapur
(C} Fatehpur Sikri (D) Delhi

How many spokes are there in our national emblem ‘Ashoka Chakra’ ?
(A) 12 (8) 15
(C)} 20 (O) 24

Which of the following medals was won by India's No. 1 badminion piayer
Saina Mehwal in London Olympics in 2012 7

(A) Gold (B) Silver
(C} Bronze (D) MNone of thesa

Which social reformer is associated with the aboltion of Sati 7
(A} Dayanand Saraswall

(B} Swam Vivekananda

(C} Raja Ram Mchan Roy

(0} Bal Gangadhar Tilak
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51.

PART-II | MTT—2
ENGLISH LANGUAGE QUESTION / aftroll wrm WE

Directions : (For Q.No. 51) : In the following sentences, you have to find
oul which part of senience markad as (A}, (B) (G} and
(D) has an error, If thera is no error, the answer is "o error’ e (DY

‘The Arabian Nights' / have lots of interesting stones |

(A) (E)
for young readers. Mo efror
(C) {0

Directions : (For Q.No. 52) in the following questions first and last part of
santence iz given as (1) and (6), Middie sentence is splitted in four pails
P. @, R, S You have to choose corect allernative having correcl
sequence so that to make meaningful sentence.

(1) Atthe end of the assignment

(P) the field worker

(Q) submitted his papers

(R} for the work done by him

{S) and also bills

(6) to the office superintendent.

(A} PQSR (B} QPRS (C] QSRP D} RSQP

Directions : (For Q.Ne. 53 to Q.No. 55) ; In the following questions, pan
of sentance is bold underlined. There are four alternatives given. One of
them when replaces the part in bold make the sentence mare
meaningful/oetter, You have 1o choose that option. If there 15 no
improvement, your answer will be (D) I.e. No correction required.

To make him succeed, the cored! thing 10 do I to punish him until he

does not try.

(A} until he tries (B) unlil he doas Iry

(G} wuntil he will not try (D) Mo correction r&q uired

The houses in our streel are more beautiful than on the main road.

(A) than that on the main road (B) than those on the main road
(C) than there on the main road (D) Mo correchion required

My mother is ill since two months,

(A} has been ill since (B) has been alling since

(C} has been ailing for (D) No correction required

Ramesh while working on Microsoft Word faces problem to perform
particular steps. \Which one of the following options of Microspit Oiffice
Word gives the answer of his queries 7

{(A) Edit (B) Insert

(C) Tool (D) Help
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0.

61.

62,

63.

64.

66.

Which type of icons cannot be deleted from the desktop ?

(4) Folder icons (B) System icons
(C) Program icons (D) Document icans
Which of the following s spread sheet package.

(A} MSWord (B} MS Power Point
(C) Windows (D} MS Excel

An operating system of a computer serves as a soflware Interface
between the user and

(A} Hardware (B) Penpherals

(C) Memory (D) Screen

Tha organised sel of instructions lo direct the computer in solving a
problem is called

(A} Program (B} Flow Chan

(C)  Algorithm (D) All of these

Directions : (For Q.No. 81 to Q.No. 67) : Choose the appropriate
altemnative which best expresses the meaning of given idiom/proverb.

To get into hot waters

(A} To be impatient

(B) To suffer a huge financial loss

(C) Togetinto trouble

(D) To be in a confused state of mind

To spill the beans
{A) To reveal secret information (B} To misbehave
(C) To keep secrats (D) Totalk imelevant

To hold somebody 1o ransom

(A} To keep captive and demand concession
{B} To humiliale somebody

{C) To'offer bribe

{0) To blackmail and extract money

A cock and bull story

{A) A true story (B) A children story

{C) A story of animals () A foolish and concocted story
Dnce in a blue moon

{A} Once ina month (B) Bi-waekly

{C) On rare oocasions (D) Every now and then

To keep the ball rolling
{A} Toeam more and more (B) To work canstantly
{C) To keep the convarsation going (D) To make the best use of

SLT002415 108 2004



B7.

68

70.

.

T3

74,

75,

76.

£ids

Make both ends meet
(&) manage the business (B8] work hard
{C) earn enough (D} control affairs

Directions : (For G.No. 68 to Q.No. 70) : In the following sentences, you
have to find oul which part of sentence marked as (A). (B), (C) and
(D has an error, If there is no emor, the answer is ‘No arror’ 1Le. (D)

By all standards / he is a best soldier | gur military school |

(A) (B) (C)
has i

(D)
Students should not lake part / in party pelitics and political

(A (B)
demonsirations / as they inteffere in serous study. / No eror
(C) (O}
Had | come / to know about [/ his difficulties /
{A) (B) (C)

| would have cerdainly helped.

()

Directions : (For Q.No. 71 to Q.No. T4) : Choose the word opposite in
meaning to the given ward.

PROHIBIT

(A} Accept (BY Permit (C} Agree {0) Grant
INNOCENT

(A)  Sinful (B)  Guilty (C) Deadly (D) Corruption
HARMONY

(A) Hatred {(B) Fnction {C) Discord (O} Enmity
DORMANT

(&) Active (B) Modern (C) Permanent (D Transient

Directions : (For Q.No. 75 to Q.No. 80) : From the given alternatives
choose the word which can be substituted for the given words/sentence

A pargon who does not beligve in any religicn

{A) Philatelist (B) Rationalist (C) Atheist {0} Pagan

Brnging about gentle and painless death from Incurable disease
(A} Suicide (B) Euphoria  (C) Gallows (D) Euthanasia

One who cannot die
(&) Stable (B} Immortal {C) Perpetual (DY Perennial
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T8,

79,

80.

B1.

B2,

83.

BS.

88.

8g.

Stealing from the writings of others
in) Copying (B) Reframing
({C) Reproducing (D) Plagiarism

A person pretending 1o be somebody he is nol
{(A) Imposter (B) Liar (C) Rogue (D} Magician

A word no longer in use
(A) Exofic (B} Primitive {C)] Obsolete (D} Ancient

Directions : (For Q.No. 81 and Q. No. 82) : Choose the word which best
expresses the meaning of the given word.

LETHAL

{A)  Unlanwful {B) Deadly

(C] Sluggish (D} Smooth

ABRIDGE

(A Abort (B] Span {C) Shorten (D) Cross
Directions : (For Q.No. 83 to Q.No. 85) : Pick the comect synonyms for
the following.

PEMNCHANT

A Like ° (B) Eagerress

G} - Disabiily (D) Dishike

ADVERSITY

(A} Crisis (B) Mistoriune

(C) Failure (DY Helplessness
STUBBORN

A} Easy (B} Obstinate (C) Willing (D) Phahle

Directions : (For Q.No. 86 and Q.No. 87) : Choose the word which best
gxpresses the meaning of the given word.

INFINITE

(&) Strange (B) Endless (C) Indefinite (D) Vague

EXPOSE
(A) Open (B) Raveal (Cy Declare (0} Conceal

Directions : (For Q.No. 88 to Q.No. 90} : Choose the word opposite in
meaning lo the given word,

MINOR

(A) Heawy (B} Tall (C1 Major (D) Big
OPAQUE

(A)  Misty (B) Covered (C) Clear (D) Transparent
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922.

a4,

85,

6.

97.

100.

SHALLOW
(A} High (B8) Hidden (C} Deep (D) Hollow

Directions : (For Q.No. 91) : From the given alternatives choose the word
which can be substituted for the given words/senlence.

A paper wrillen in one’s own handwriing

(&) Manuscript (B) Scroll

(C) Parchmeant (D} Transcript

Directions * (For Q.No. 92 to Q.No. 99) : In the following sentence, a
blank space is given Choose the correct allemnative from the options
which is most appropriate 1o fill the biank space

i our friends are not able to take us in ther car, we must make
.................. arrangements to go to the airport,

(A) possibie (B} alternate (C) another (D) alternative

The envionment Was ... to his work and that's why he
succeaded.

(A} suitable (B) confirming

(C) conducive (D) adequate

The organisers of the conference have .................. the allegations made
against them.

(&) retored (B) repulsed (C) mebuked (D) repudiated
TSRO, it at six this moming.

{A) arose (B) rose {C) aroused (D} raised

The matter would have become sernous if . rvverr Aclion had not
bzan taken.

(A) deliberate (B) fast (C) hasty (D) timely

Ve draeerreaiinr a car to ba absolulely necessary these days.

(&) think {B) regard {C)] conslder (D) agres

These documents are of ... historical importance as they throw
a lot of light an men and matters.

(A major (B) immense (C) tedrific {D) high

Would you mind ................  to the Principal how the trouble stared 7

(&) talking (B) remarking (C} telling (0 explaining

Directions : (For Q.No. 100) : Choose the appropriate allernative wihich
best expresses the meaning of given idiom/proverb

To frame a parson

(&Y To befool someone (B] To make one appear quilty

(C) To praise someona (D) A narrow escape
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